HERES

EBRELT -EERT
1REIT ikl AR H m3 210
A—Frhv m3 470
FtiE m3 116
L rbE Abwor—F m3 3750
BT BER 25m=B<4.0 m3 14
4.0m=B m3 830
BiEmEt T Bk B<25m m3 4
2Em=B<4.0 m3 16
4.0m =B m3 1500
SEREL 25m=B<40 m3 22
BEEAEL B<25m m3 79
ERAE T 40m=8B m3 1600
EE+T PRI m3 280
#BED m3 210
EERET FEAE (PL£ERD m2 140
FmAE (BELEERD m2 740
EET L5 m| (=l b mz 140
BtEm BTt m2 700
A T
AET
el PUL-240 m 43
PUL-300B m 121
PU2-300A m 77
PU3-3004 m 140
B PC3-300/4 " 145
PC4-300/8 # 8
GriF £ 2513004 # 8
MR D300 (A) m 138
D300 (B) m B
ek T
fiEBEk T BF-300 m 19
EFHEAR T m 20
Skt - vk — AT
T =13 2
At A-2EI1 AT 1
S (14) 800 x 800 x 1550 AT 1
S (15) 800 % 800 % 1150 AT 1
S (16) 500 % 500 % 650 Rl 1
S (17) 500 % 500 % 650 Rl 1
S (18) 800 x 800 % 700 AT 1
SAGH (19) 500 X 500 % 650 AT 1
SR (20) 500 X 500 % 650 AT 1
S 2D 500 % 500 % 650 Rl 1
S (22) 500 % 500 % 700 Rl 1
EET
FiE EITE ¢ 200 m
B8 ¢ 300 m 9
HE ¢ 600 m 13




HERES

BET
FARAZ7iLFERET
TREE®EL RC-40 t=3lcm m2 969
jijiid RC-40 t=10cm m2 360
BaL
BaL
BEL (A) m 136
#RI (B) m 1
#\EI (C) m 2
BmEpRET
BEYERELT
ax o U — MEEMIEL |EHEED m3
B AL Co m3
SREEhREYE L AsiR  t=30 me 69
BEEREEL AskER  t=50 m2 137
EEARUIE T AskER t=30 m 12
SR AR T Ashi t=50 m 13
B AL As m3 9
wEET
TEEET
TEFEEERE =, 1
HEREE
EEE
EE mz 1000
AR GEEES t 12
TR & (HEEL) t 6
TS E Rtk t 12
HEiTEEE
TEETRE =, 1




EE T BEgtRE

& B



MmEBNR

ERT THERFE
me-TiE | W 5 R T 2 % =
E4IT H iR +8 m3 207.6
A—Tvhyt  tB m3 417.3
ST +8 m3 116.0
BtT PR
2. 5U<4. 0 m3 14.0
W=4.0 m3 830.0
LY 1.0<W<2. 5 m3 3.7
2. 5<H<4. 0 m3 16.0
W=4.0 m3 1515.0
SiEmt 2. 5<H<4. 0 m3 22.0
BERT m3 9.0
EREt W=4.0 m3 1647. 5
{E¥+T KR +8 m3 276.3
25
#+D m3 207.5
EEEBL YT REEY DR m2 139.5
Bt AR Bt m? 744.7
BiE
(ouli £ )
L@ |207. 6+467. 3+116.0+276. 3 1,067.2
RELE (14.0+830. 0+3. 7+16. 0+1515. 0+22. 0+79. 0+1647. 5+207.5) /0.9 4,816.3
WAt 4818.1-993.7 3,749. 1




ME BN

BRI THEHFES
#ERIT NO.
AYHEA A—Trhv b wElE=
AR B | R fm &
WiE T || BE | P | BE | P || BE | FH I8

ho. 10 2.9 1.45
ho. 11 20. 000 46| 3.75 75.0
ho. 12 20. 000 4.2) 4.40] 88.¢
ho. 13 20. 000 0.7 2.45 49.0
ho. 14 20000 | 3.8 1.90 380 3.2 195 39.0

EC. 2 3.024) 40 390 11.8[ 1.9 255 7.7
ho. 15 16.976 | 6.7 535 90.8 0.95 16.1
ho. 16 20. 000 3.35| 67.0 5.8/ 2.90| 58.0
ho. 17 20. 000 17.5| 8.75 175.0 2.90| 58.¢
hO. 17+2.0 | 2.000 8.75| 11.5

&5 |142.000 207.6 467. 3 116.0




ERTIHEHES

ME B

fERLT NO.
FRAE () R ()
Al A | XMERE "%
WTE | P19 |3 fR | BE | P9 | AR | BTE | P9 | A WrE | T | i AR
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
M. 10 0.3 0.15 0.2| 0.10
ho. 11 20.000 | 0.6 0.45| 9.0/ 02 020 40
hO. 12 20.000 | 0.6 0.60) 12.0 0.2 0.20] 4.0
MO, 13 20.000 | 0.6 0.60) 12.0| 0.2 0.20] 4.0
NO. 14 20.000 | 0.6 0.60) 12.0| 0.9 0.55 11.0
EC. 2 3.024| 0.6) 0.60 1.8 09 090 27
MD. 15 16.976 | 1.0/ 0.80| 13.6) 0.9/ 0.90] 15.3
NO. 16 20.000 0.50| 10.0
NO. 17 20.000 0.9 0.45) 9.0
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
NO.
EHE
&8t |140.000 70.4 50.0 120.4




EtT

ERTIHEHES

ME B

NO.

AR BFR

X el B A

BEER (W<1. 0)

BEER (1. 0=W<2.5)

BRER (2. 5=W<4. 0)

BERR (W=4.0)

WTE

i i&

W

i i&

WiE | T | L AR

WiE | T iR

T

NO.

NO.

NO.

NO.

NO.

NO.

NO.
NO.

NO.

NO.

NO.

NO.

NO.

10

NO.

11

20.

000

0.7 0.35 1.0

NO.

12

20.

000

4.1 205 4.0

NO.

13

20.

000

0.7 G.35 1.0

5.4 475 9.0

NO.

14

20.

000

5.6/ 550 110.0

EC. 2

024

5.6/ 560 169

NO.

15

16

976

6.9 6.25 106.1

NO.

16

20.

000

15.1] 11.00] 220.0

NO.

17

20.

000

9.0/ 1205 241.0

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.
NO.

NO.

NO.

NO.

NO.

NO.

A5V

op
Eil_l

140.

000

14. 0

830. 0

844. 0




EtT

ERTIHEHES

ME B

NO.

AR BFR

X el B A

B4R W<T. 0)

B (1. 0=W<2.5)

BEAE (2. 5=W<4. 0)

B4R (W=4.0)

WTE

i i&

WTE | T | i AR

WiE | T | L AR

WiE | T iR

T

NO.

NO.

NO.

NO.

NO.

NO.

NO.
NO.

NO.

NO.

NO.

NO.

NO.

10

NO.

11

20

000

NO.

12

20

000

NO.

13

20

000

NO.

14

20

000

3.1 155 31.0¢

EC. 2

024

3.5 330 10.0

NO.

15

16

976

0.2 0.10 1.7

6.4 495 840

NO.

16

20

000

0.10 2.0

65.1] 35.75 715.0

NO.

17

20

000

1.6 0.80] 16.0

2.4 33.75 675.0

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.
NO.

NO.

NO.

NO.

NO.

NO.

A5V

op
Eil_l

140.

000

3.7

16. ¢

1515. ¢

1534. 7




ERTIHEHES

ME B

EtT NO.
SEELT (A) SlEELT (A) BEHEL (L) BEEL (&7

R e BF |EMEERE fm &
WE | FH9 | B | WE | P9 | L T # T i

MO,

MO,

NO.

MO,

MO,

NO.

MO,

NO.

NO.

MO,

NO.

NO.

ND. 10 0.2 0.10 0.1 0.05 0.1] 0.05

NO. 11 20. 000 0.10) 20| 05 030 60 0.05| 1.0

MO, 12 20. 000 0.5/ 0.50| 10.0

ND. 13 20. 000 0.3 0.15 30| o5 o050 100 01 005 10

NO. 14 20. 000 0.15| 30| 05 05 100 0.05| 1.0

EC.2 3.024 0.5| 0.50 1.5

ND. 15 16.976 0.5/ 0.50| 85

NO. 16 20. 000 0.7 0.35] 70 05 050 100 05 02 50

NO. 17 20. 000 0.35] 70| 05 05 100 0.25| 5.0

MO,

NO.

NO.

MO,

NO.

NO.

MO,

NO.

NO.

MO,

NO.

NO.

MO,

NO.

NO.

MO,

NO.

MO,

MO,

NO.

&8 | 140.000 22.0 66. 0 13.0




ERTIHEHES

ME B

fExx T NO.
BREC (&) BEC (B) HED (X&) #HED (H)

R e BF |EMEERE fm &
BrE | i || BE | FH | X & F 5 E B

MO,

MO,

NO.

MO,

MO,

NO.

MO,

NO.

NO.

MO,

NO.

NO.

N, 10 0.3 0.15 0.2 0.10

M. 11 20. 000 0.4/ 035 70 02 02 40

M. 12 20. 000 0.5| 045/ 9.0 02 02 40

M. 13 20. 000 0.4/ 045/ 90| 02 02 40

M. 14 20. 000 0.4/ 040 80| 07 045 9.0

EG. 2 3,024 0.4/ 040 1.2 07 070 21

M. 15 16. 976 0.8| 060 10.2] 0.7 070 119

NO. 16 20. 000 0.40| 8.0

M. 17 20. 000 0.6/ 0.30 6.0

MO,

NO.

NO.

MO,

NO.

NO.

MO,

NO.

NO.

MO,

NO.

NO.

MO,

NO.

NO.

MO,

NO.

MO,

MO,

NO.

hst
&% | 140.000 52. 4 41.0 93.4

10




MEBIR

EREE L NO.12{F T A [E
IR EEE = ERES
RREHES mfE HERE ERTFEIES L fHER
D m 2@ m2 Dx@ D m 2@ m2 Dx@
76.38 190.8 14573.304 71715 484 3734.06
717.05 89.1 6865.155
76.99 234 1801.566
76.68 98 751.464
76.59 201 1539.459
76.38 190.8 14573.304 11.00 190.8 14691.704
MALE
11840

V= (77.00-76.38) X 190.8=

11




MEBIR

m O O @

iy A NO.16(f) M IB3L
IR EEE = ERES
RREHES mfE HERE ERTFEIES L fHER
D m 2@ m2 Dx@ D m 2@ m2 Dx@
79.28 109.3 8665.304 81.50 109.3 890795
1741 1427 11046.407 81.62 1427 11647.174
78.96 11886 0364.656 81.08 118.6 9616.088
79.70 96.3 7675.11 82.00 96.3 7896.6
79.93 93.2 7449476 8223 93.2 7663.836
78.92 560.1 44200.253 81.65 560.1 45731.648
MALE
V=(8165-78.92) x 560.1= 1529.10

An5-1 7 112

s
AREE

768, 93n¢

MO E B

12



FEERL

ERTIHEHES

NO.

ME B

AR BFR

X el B A

YLEEER (f)

YrEEER (B)

BIEEER (X)

B EEER

[Ty

(&)

br 3

T

br 34

T

br 3

T

AR

T

T

NO.

NO.

NO.

NO.

NO.
NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

10

NO.

11

20. 000

0.6

6.0

—
~

NO.

12

20.000

0.6

12.0

P
(75

NO.

13

20.000

6.0

NO.

14

20. 000

1.9

19.0

EC. 2

3.024

1.6

5.3

NO.

15

16. 976

2.9

38.2

121.

NO.

16

20. 000

29.0

s

235.

NO.

17

20.000

2.4

— = M

24.0

I U Rl E A Pl o

(=R N - R R = /]

173.

— e ([
A E
o o|ls wlol|lo oo

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.

NO.
NO.

NO.

NO.

NO.

NO.

op
Eiu

140. 0

139.5

744. 17

13




BT, BoEatRE

g =y=plIE:
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MEBIE

ZEITH=RFER
15 - T ®m A Bk |Em| & B % =
HET
PEE | EFR m2 139.6
BikE  |EFRA m? 703.0

15



s ==
ZEIMESESE ME[E
AET NO.
mtEm RLEE
BmEH |RmE BRRE (B) | BEwE (B) | ®mEwH (£) | sEwe @ | & o=
#E |7 v T 2E % T 2| v 2n| 2 * 8T8
NO. 10 3 015
NO. 11 20.0 0.6/ 0.3 6.0 1.4 0.8 17.0
ND. 12 20.0 0.6/ 0.60| 12.0¢ 2.9 2.15] 43.0
NO. 13 20. 0 0.30 6.0 3.1 3.00| 60.0
ND. 14 20.0 1.9 0.95 19.0 4.1 4. 00| 80.0
EC. 2 3.0 1.6/ 1.75 53 5.2 5.05 15.2
NO. 15 17. 0 2.9 2.25| 38.3 7.6/ 6.40] 108.8
ND. 16 20.0 1.45| 29.¢f 13.7| 10.05| 213.0
ND. 17 20.0 2.4 1.20| 24.0¢ 2.90 8.30 166.0
&5t 140. 0 139.6 703.0

16




HEKHEY T
L B )1 #%

mE AR
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PS4 L H 2 £ 5= 1/4
il Al H & BT, 54 T2

I T 1T SIS RN 500 o m
BEER s00 < 500 m
BUe LS00 200 o
RN son - T m
BRI o0 wi0 m
BEER s00 2 Y00 0
FEHERT) 5001000 | m
FOEH s00<1100 | m
3 1 — 18-8=05BE el
B 18-8-25BB wd
fEE A w2
F RC=40-+=100 w2
SR m2

PUL-240 m 42.5

PUL-300B m 120. 9
PUA=450 m
PL=500 m

PU2-3004 m 76.5
PU2=300B i
PU2-5004 m

e A

18




PS4 L H 2 £ 5= 2/4
£ Al 32 & BAAfif = B =
PU3-3004 m 140
U=500=500 0
PRI RE(G3004) m
PC3-300H 2 e 145
PC3-500H= e
PC4-300 3 LS 8
Grag (30011} L= — Hie
el L=500 MIH| 8
BOMIGEIT V=Gl | f
VSGram (300 R L -s00 e
P AIED300 (A) m 138.2
IR D300 (B) m 5
PR EED300c) m
HEAK T AEEHEK T m 19.0
NEEHEAK m 20.3
e A

19




PEAK I E) T o SR 3/4

oAl A 5] 7} & Hiv| % & H =

oK T /Nt &Py 2
o . e
TE IR (A28 1) (& T 1
HriR R (A-2512) & T
EriR R (A-2513) &
£ 4 i
L At i5) [T
s Lk iy
£ aaas i
L At ) [T
s {9) EiH
£ 110} B
L At 1) fip
s {2y EiH
Kb (14) B 1
Kt (15) & T 1
Kbt (16) & 1
Kb (17) B 1
Kb (18) & 1
Kbt (19) & T 1
Kb (20) B 1

e A

20




=

PS4 L H 2 £ 5= 4/4
£ A5 b7} & BAAfif =

oK (21) & T 1
K (22) B 1
el {23} i
L At (21} (3L
s {351 iy
L aal s i
L At (27} (3L
s Lk iy
L aal L i
L At o (3L
s Lol iy
L aal L i
L At () (3L

EET BAE (¢ 200) m 5.5
BE (¢ 300) m 9.2
TE Lo 4000 m
B (¢ 600) m 13
[FEIEEE BRI 4]
Lo 300} 0
BR300, )

21




& A #

g (H) RBEFXTI #AE
5 JER n BPARE FE(D) | mR | AEEE
W () | #ED | BmEEE
SFHE $ 300 9.2 Lo| 0.8 9.2 7.4
g $ 450 1.6 | 1.2
g $ 600 13.0 2.2 | 1.6 28.6 20. 8
R A 4300 0.3
A 4 2.9 23
A 7 44 | 32
A 8 87| 49
A g9 58 | 4.2
A 10 45| 35
A 12 75| 52
oKt 14 1 9.2 | 6.4 9.2 6.4
oKt 15 1 571 41 5.7 4.1
wixp 1® 1,7’2}9’ 20 5 2.6 | 2.1 13.0 10.5
wAME 18,22, 25, 26 2 2.8 | 2.2 5.6 4.4
A 23 83| 44
A 24 38| 27
A 31 &4 | 57
A 40 57| 44
A 41 78| 49
ARG PU1-300B 120. 9 0.7 0.5 84.6 60.5
AL PU1=450 1| 6z
AL PU2=5004 14| 69
AL U=500=500 3| 68
7 EE T TR 155.9 114.1
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8 A #

PUL-240 w o' W F
. i | o "
4 o A= ==V o & 7] ::N
H Es)
R | No. 12 No. 13 + 1.3 n 26.0
L | No. 14 + 8.6 No. 15 + 5.0 n 16.5
& & m 42.5

23



8 A #

PU1-300B M & O OE=
P ?EIJ PrEsY Neoprl ~ =t
4 FE {iL EAfip ¥ B 7] B
H Es)
m

L No. 10 + 17.3 No. 10 + 18.8 m 13.4
L | No. 10 +19.5 No. 15 + 7.1 n 87.5
L | No. 15 + 15.6 No. 16 + 15.3 n 20. 0

& &t m 120.9

24



8 A #

PU2-300A 5 & W F
A A
4 W | AN W o=
B =
R No. 13 + 1.7 No. 16 + 18.2 m 76.5
& &t m 76.5
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8 A #

PU3-3004 o &= M OF
A A
& B |fug AN W o=
B =
L No. 10 No. 17 m 140. 0
& &t 0.0 140. 0
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8 A #

PC3-300f 2 o &= M OF
BooE
% B |foE TN o=
g =
¥
R No. 13 + 1.7 No. 16 + 18.2 F 145. 0
& = 145. 0
PC3-500/ 2 o= B &
oA
4 o |hrE ; = WAL ¥ B m o=
& F ¥z 0.0
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8 A #

PC4-300/] 2% o &= M OF
i | o
4 o {ir & BT ¥ B 7] ::N
H Es)
L No. 10 + 12.8 No. 10 + 16.8 ¥ 8.0
& &t 0.0 8.0
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8 A #

Grig (300 F—4%) o &= M OF
A A
& B |fug AN W o=
B =
& F 0.0 0.0
Gr (300H§M B) o= B &
A
A P CT AN - W=
B %
e
R No. 13 + 1.7 No. 16 + 18.2 Hr 8.0
& F 0.0 8.0

29



8 A #

M FZARIED300 (A) H & N F
i | o
£ R {ir & BT o & -] ::N
H Ez)
m
R | No. 10 No. 16 + 14.2 n 134. 2
R | No. 16 + 15.4 No. 16 + 19.4 n 4.0
& & m 138. 2
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8 A #

M FZRIED300 (B) H & N F
wooaA
% oo | Bfr | & =
B E
m
L No. 10 + 11.8 No. 100 + 16.9 m 5.0
& & m 5.0

31



8 A #

MEFEHEAK L w o' W F
% o g M "ﬁ BT =) =
I DAER AL =
H Es)
L | No. 15 + 7.1 n 5.0
L | No. 15 + 15.6 m 3.3
L | No. 16 + 16.5 No. 17 + 1.3 n 10. 7
& & m 19.0
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8 A #

sNEEHEAK w o' W F
i | o
4 o {ir & BT o & 7] ::N
H Es)
v L | No. 15 + 15.6 No. 16 + 15.9 n 20. 3
& & m 20. 3
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8 A #

NG 2 o= N OF
il AL o .
T (LB ==X (Y7 = -] i)
H Ez)
L | No. 15 + 15.3 & 1.0
L | No. 16 + 16.1 & 1.0
& &t AT 2.0

24



8 A #

T (A-2750 1) # o= O F
A oA Bif OB W =
4 o {ir & = = A =
R | No. 16 + 14.7 & 1.0
& & 0.0 1.0
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8 A #

Ak B ' N OF 1/2
oo | Mo Bir| & o
H =
&
(14) R | No. 10 + 18.3 (=13 1.0
(15) L |No. 10 +19.3 0 1.0
(16) L | No. 10 +17.3 & 1.0
(17) R | No. 11 + 19.4 (=13 1.0
(18) R | No. 13 + 1.3 0 1.0
(19) L | No. 15 + 7.4 & 1.0
(20) L | No. 15 + 5.3 (=13 1.0
(21) L |No. 15 +15.3 0 1.0
(22) R | No. 16 +19.6 0 1.0
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8 A #

BIHE (¢ 200) w o' W F
i | o
4 o {ir & BT ¥ B 7] ::N
H Es)
R No. 16 + 14.7 No. 16 + 19.4 m 5.5
& &t m 5.5
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8 A #

BIHE (¢ 300) w o' W F
i | o
4 o {ir & BT ¥ B 7] ::N
H Es)
L No. 16 + 5.7 No. 15 + 14.9 m 9.2
& &t m 9.2
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8 A #

GAHE (¢ 600) o & W O F
i | o
4 R {ir & BT o & 7] ::N
H Es)
m
-~ | No. 10 +18.7 n 13.0
& & m 13.0
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7L F e AR UAHEIE e = = r = w
PUL-240 éﬁ =E8 D+ = = 10. Om=4 ¥

% i 3 B =N Gy 7=

8l i = 16.5 16.5 {1

(PU1-240)

LIS 0.24>0.05%10.0 = 0.072 0.07 m3

(1:3)

B~ 0.44%10.0 = 4400 4.40  m2

(RC-40 t=100)

HEET 0. 4410, 0 = 4.400 4.4 m2

40




7% e A B URLHIE

PUL-300B O S 10 o4 9

% i 3 B =N Gy 7=
8l i 16.5 16.5 {1
(PU1-300B)
LIS 0.30x0.03x10.0 0. 090 ¢.09 m3
(1:3)
H ot 0.50x10.0 5. 000 5.00 m2
(RC-40 t=100)
HEET 0.5010.0 5. 000 5.0 m2
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7% e A B URLHIE

PU2-300A O S 10 o4 9

G goR ¥ &
8l i 5.0 5.0 4
(PU2-3004A)
LIS 0.536x0.03x10.0 0. 108 ¢.11 m3
(1:3)
B~ 0.56%10.0 5. 600 5.60 m2
(RC-40 t=100)
HEET 0.56X10.0 5. 600 5.6 m2

42




7% e A B URLHIE

PU3-300A O S 10 o4 9
G goR ¥ &
& 5.0 5.0 4

(PU3-3004A)

LIS 0.536x0.03x10.0 0. 108 ¢.11 m3
(1:3)

B~ 0.56%10.0 5. 600 5.60 m2
(RC-40 t=100)

HEET 0.56X10.0 5. 600 5.6 m2
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Mg T 2 B I B = 10. Om¥4 ¥

% i 3 B Y % 7=
A F TN 5 I = 5.0 5.0 &
(BF300)
oy N—k 0.50>0.10%2x10.0 = 1.000 .00 m3
(18-8-25BB)
i S 0.104x10.0 = 4000 4.00 m2
HEET 1. 30%10.0 = 13.000 13.0 m2
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NEEK

o B OB " OE 10. 0m4 1
% i 3 B =N Gy 7=
A F TN o — A 5.0 5.0 1
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(1:3)
BlLawrrzU—h 0. 4410, 0 4. 400 4. 40 m2
(18-8-40BB t=100)
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A W=300 = 3 &
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sV = 0.22 m3
g e ( 0.50 + 0.50) X 2 X 0.65
+( 0.8 + 0.80) X 2 X 0.65 = 3. 380
NZE——— 0.50 X 0.50 = 0.25 k®H &= 0. 500
T A = 3. 88 m2
T —F o7& 500 X 500 H (—f) = 1 #
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WM 0.90 X 0.90 = 0.81 m2
(RC-40 t=150)
i 0.90 X 0.90 = 0.8 m2
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28— 0.50 X 0.50 = 0.25 Lh - -0. 070
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g e ( 0.50 + 0.50) X 2 X 0.65
+( 0.8 + 0.80) X 2 X 0.65 = 3. 380
NZE——— 0.50 X 0.50 = 0.25 k®H &= 0. 500
T A = 3. 88 m2
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(T-2) FMNERE SRy
WM 0.90 X 0.90 = 0.81 m2
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L 0.90 X 0.90 = 0.8 m2
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g e ( 0.50 + 0.50) X 2 X 070
+( 0.8 + 0.80) X 2 X 0.70 = 3. 640
NZE——— 0.50 X 0.50 = 0.25 k®H &= 0. 500
T A = 4. 14 m2
T V—F T 500 X 500 H (FH E ) = 1 R
(T-2) FMNERE SRy
WM 0.90 X 0.90 = 0.81 m2
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g e ( 0.50 + 0.50) X 2 X 0.65
+( 0.8 + 0.80) X 2 X (.65 = 3. 380
NZE——— 0.50 X 0.50 = 0.25 k®H &= 0. 500
T A = 3. 88 m2
WM 0.90 X 0.90 = 0.81 m2
(RC-40 t=150)
i 0.90 X 0.90 = 0.8 m2
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sV = 0.22 m3
g e ( 0.50 + 0.50) X 2 X 0.65
+( 0.8 + 0.80) X 2 X (.65 = 3. 380
NZE——— 0.50 X 0.50 = 0.25 k®H &= 0. 500
T A = 3. 88 m2
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sV = 0.24 m3
g e ( 0.50 + 0.50) X 2 X 070
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BAEEHESE L
527.6 + 441.5 = 969, 1

TREE (FE2 vy —52 RC-40) t=3lcm
969, 1 = 969.1

969. 1 969 m2

BAEHEE LY
286.7  + 73.3 = 360.0

B OB (ELEYTSvy—TF 2 EC-40) t=10cm
360.0 = 380.0

360. 0 360 m2

69




HETHEAHUE

ME B

EEEEA NO.
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BSEF | xwpet e
B F Y FEHR| B F OHFER T O FEE T O FEE
ND. 10 427 2.14 3.54] 1.77
NO. 1049. 4 9.4 | 3.75 401 37.7| 3.14 3.34 31.4
ND. 11 10.6 | 3.75 3.75| 39.8] 3.14) 3.14| 33.3
ND. 12 200 | 3.75 3.75 75.0| 3.14] 3.14] 62.8
ND. 13 20.0 | 3.75 3.75 75.0| 3.14] 3.14| 62.8
ND. 14 20.0 | 3.75 3.75 75.0| 3.14] 3.14| 62.8
EC.2 3.0 3.75 3.75 11.3] 3.14 314 9.4
ND. 15 17.0 | 3.75 3.75| 63.8| 3.14) 3.14| 53.4
ND. 16 20.0 | 3.75 3.75 75.0| 3.14] 3.14| 62.8
ND. 17 200 | 3.75 3.75 75.0| 3.14] 3.14] 62.8
&5t 527. 6 441.5

70




ME B

HEIHEFES
SEE NO.
= A1
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NO. 10 2.28 1.14
ND. 11 20.0 2.28) 2.28| 45.6
ND. 12 20.0 2.28) 2.28| 45.6
ND. 13 20.0 2.28) 2.28| 45.6
NO. 13+1.8 1.8
ND. Rk 1.78 0.89
ND. 14 18.2 1.78) 1.78| 32.4
EC.2 3.0 1.78| 1.78] 5.3
ND. 15 17.0 1.78) 1.78] 30.3
NO. 15+15.0| 15.0 1.78) 1.78] 26.7
No. [k 2.28)  2.03
ND. 16 5. 2.28) 2.28] 11.4
NO. 16+19.2| 19.2 2.28) 2,28 43.8
INEH 286. 7
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% pin it = 7\ g =
BEEER T T W=72kg/fE (L=0. 6m) = 10.000 10.0 m
(HFE Z#E BE)
B LA L 0.23x0.02x10.0 = 0. 046 0.05 m3
(1:3)
AL 0.2210.0 = 2. 200 2.20 m2
ayy Y—k (0. 34 % 0. 10+0. 15X 0. 12) X 10. 0 = 0. 520 0.52  m3
(18-8-25BB)
o 0.39<X10.0 = 3. 900 3.90 m2

(RC—40 t=10cm)
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B LA L 0.23x0.02x10.0 = 0. 046 0.05 m3
(1:3)

AL 0.2210.0 = 2. 200 2.20 m2
ayy Y—k (0. 34 % 0. 10+0. 15X 0. 12) X 10. 0 = 0. 520 0.52  m3
(18-8-25BB)

o 0.39<X10.0 = 3. 900 3.90 m2

(RC—40 t=10cm)
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o 0.39<X10.0 = 3. 900 3.90 m2

(RC—40 t=10cm)
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URLAIE (2) B L A=0. 072
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PEEE (D
NO. 12+15. 8
HELo v = 1.2
H = 4.2 m3
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= 136.8 m2 137
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# = 11.5 m 12
B AR T T
As (t=5cm)}
NO. 10+11. 8~N0. 10+18. 2 = 12.6
s = 12.6 m 13
ComkiEMULEE 4.2 = 4.2 m3 4
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AsEriEHRALIE 590, 03+126. 8 0. 05 - 8.9
L = 8.9 m3 9
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E(BE Ao TES RS ERE
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FHEE T, BESIRO bR L
A ERE TEER SEEFEEFLY 0.012t/m?2
W= 1006. 8% 0.012 = 12,1 1 12.1
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HArERE
T EEERE N= = 1 =Y 1
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